‘MONITORING LEARNERS PROGRESS
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Time: 1 Hr 40 Min, MATHEMATICS [CBCj
1. What is the place value of 4 in: | (2 marks)

a) 4900

b) 54332
2. What is the total value of 9 in: (2 marks)

“a) 2900 |

b) 901

3. Write the number in the abacus. (1 mark)
> $ &

TT THT O

4. Write in figures. - « (1 mark)
Thirteen thousand nine hundred and two.

5. What fraction is unshaded? (1 mark)

6. Stano had 489 sheep He bought 329 more sheep. How many sheep d.i'd
he have altogether" (2 marks)
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7. Add on a numberline. (2 marks)
6:::::::::::'9
.- 01 02 0.3 04 05 0.6 0.7 0.8 0.9 1.0 1.1
04+03=
8. Change the mixed fraction to an improper fraction. (2 marks)
a) 2Y/,
a1/
b) 4 /3
9. Write in Roman numbers. (2 marks)
a) 6 b) 9
10. Find the perimeter of the figures below. (2 marks)
a) b) 24cm
10cm
. 14 cm
11. Work out: S | (6 marks)
a) 14+16+6= - e) 7569
+ 9435
b) 497 B
- + 694 _
- 17699
c) 9000 |
e = 643D e e
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d)

12.

13.

14.

15.

Yy +3, =

Round off to the nearest 10. (2 marks)

a) 149

b) 982

What time is it?

In Gakoigo primary school there are 696 pupils. Each pupil was given
9 textbooks. How many textbooks were given altogether? (2 marks)

Work out: | 4 marks)
a) Week days N b) m cm
3 4 o 4 67
+ 2 5 | + 9 48
c) Hours Minutes : d 3 |2I'm 15cm
4 59
+ 5 11
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16.

17.

18.

19.

20.

How many container V can fill container X7 (2 marks)

>
AN |
49 kg + 16 kg = _
A farmer planted 1001 seedlings. During drought 49 seedlings died.
How many seedlings did he remain with? (2 marks)
Change the fraction into decimal. (2 marks)
a) Y=
b) /100 =
Work out: . ) (5 marks)
a) 56 = 7= . b) 4x9x3=
c) | 4943 | d) 94
+ 3249 x 42
e) - 70000
- 34213
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